
Spare parts for:

Suitable for:

This catalogue is automatically generated. 
Therefore, the sequence of the items might 
not be always shown at best.
Updates will be issued in case of additions
and/or amendments.
Suitable universal spare parts may not be included

<T1

SIT
T1>

Suitable for:

This catalogue is automatically generated. 
Therefore, the sequence of the items might 
not be always shown at best.
Updates will be issued in case of additions
and/or amendments.
Suitable universal spare parts may not be included

R
e

l.
 2

0
1

5
-1

0
2

3
0

8
4

7

Ovens



Suitable for: Suitable for:

<T2

Cables for piezo igniters
T2>

<|

3 0 0 1 0 0 2
|>

IG N IT IO N  LEA D  1 0 0 0  m m
<|

3 0 0 1 0 1 6
|>

IG N IT IO N  LEA D  1 0 0 0  m m
with faston 6.35x0.8 mm for ignition with faston ø 2.4 mm for ignition

 with faston ø 4 mm for ignition plug  with faston ø 4 mm for electrode

    

SIT  0.028.398  SIT  0.028.513

<|

3 0 0 1 0 1 9
|>

IG N IT IO N  LEA D  1 0 0 0  m m
<|

3 0 0 1 0 2 8
|>

IG N IT IO N  LEA D  5 0 0  m m
with faston ø 2.4 mm for ignition with faston ø 2.4 mm for ignition

 with faston ø 2.4 mm for electrode  with faston ø 4 mm for sparking plug

    

SIT  0.028.512  SIT  0.028.510

<|

3 0 0 1 0 1 7
|>

IG N IT IO N  LEA D  6 0 0  m m
<|

3 0 0 1 0 1 8
|>

IG N IT IO N  LEA D  6 0 0  m m
with faston 6.35x0.8 mm for ignition with faston ø 2.4 mm for ignition

 with faston ø 4 mm for electrode  with faston ø 4 mm for electrode

    

SIT  0.028.399  SIT  0.028.509 SIT  0.028.521

<T2

Centrifugal fans
T2>

<|

3 2 4 0 7 1 6
|>

M OT O R FA N  EV2 0 0 /1 2 0 /E3 0 C A  8 0 W  2 3 0 V
<|

7 1 1 1 2 6 7
|>

VE NT IL A TEU R  C EN TR IFUG E L N 2
50Hz 230V 50Hz type NG40050

    

SIT  SIT  W940111050

<T1

SIT
T1>



Suitable for: Suitable for:

<T2

Electrical gas valves and accessories
T2>

<|

3 5 2 6 0 8 9
|>

EL ETT R OS IT  VA L VE ø 1 /2"FF
<|

3 5 2 6 1 0 0
|>

C O IL  2 2 0 V
inlet ø 1/2"F - outlet ø 1/2"F for VALVE ELETTROSIT

 thermocouple connection M9x1  
 maximum gas inlet pressure 50 mbar  
 pressure adjustment range  
 3÷18 mbar  
 ambient temperature 0÷60°C  
 power supply 230V 50Hz  
 long buttons  
 pilot connection and LOWER thermocouple  

    

SIT  0.810.136  SIT  0.967.041

<|

3 5 2 6 1 0 8
|>

EL BO W  FLA N G E ø 1 /2 "F
<|

3 0 0 1 0 0 8
|>

P IEZ O IGN ITER
with screws and "O" ring a ø 14 mm hole is required for the assembly

 for ELETTROSIT VALVE  faston M ø 2.4 mm

    

SIT  SIT  0.073.953

<|

3 5 2 6 1 0 6
|>

S TR A IG H T FL A NG E ø  1 /2 "
<|

3 5 2 6 1 0 7
|>

S TR A IG H T FL A NG E ø  3 /4 "F
with screws and "O" ring with screws and "O" ring

 for ELETTROSIT VALVE  for ELETTROSIT VALVE

    

SIT  SIT

<|

3 5 2 6 0 9 6
|>

VA L V E M IC R OS W IT C H
<| |>

maximum load 0.2 A
 for VALVE ELETTROSIT-820 NOVA-824 NOVASIT  

    

SIT  0.927.012  

<T1

SIT
T1>



Suitable for: Suitable for:

<|

3 5 2 6 0 9 2
|>

EL ETT R OS IT  VA L VE ø 1 /2"FF
<|

3 5 2 6 1 0 0
|>

C O IL  2 2 0 V
inlet ø 1/2"F - outlet ø 1/2"F for VALVE ELETTROSIT

 thermocouple connection M9x1  
 maximum gas inlet pressure 50 mbar  
 pressure adjustment range  
 3÷18 mbar  
 ambient temperature 0÷60°C  
 power supply 220/240V 50Hz  
 long buttons  
 pilot connection and LATERAL thermocouple  

    

SIT  0.810.126  SIT  0.967.041

<|

3 5 2 6 1 0 8
|>

EL BO W  FLA N G E ø 1 /2 "F
<|

3 0 0 1 0 0 8
|>

P IEZ O IGN ITER
with screws and "O" ring a ø 14 mm hole is required for the assembly

 for ELETTROSIT VALVE  faston M ø 2.4 mm

    

SIT  SIT  0.073.953

<|

3 5 2 6 1 0 6
|>

S TR A IG H T FL A NG E ø  1 /2 "
<|

3 5 2 6 1 0 7
|>

S TR A IG H T FL A NG E ø  3 /4 "F
with screws and "O" ring with screws and "O" ring

 for ELETTROSIT VALVE  for ELETTROSIT VALVE

    

SIT  SIT

<|

3 5 2 6 0 9 6
|>

VA L V E M IC R OS W IT C H
<|

3 5 2 6 1 3 8
|>

VA L V E PR O TEC T IO N  7 2 x4 4  m m
maximum load 0.2 A

 for VALVE ELETTROSIT-820 NOVA-824 NOVASIT  

    

SIT  0.927.012  SIT

<T1

SIT
T1>



Suitable for: Suitable for:

<|

3 5 2 6 0 8 7
|>

EL ETT R OS IT  VA L VE ø 3 /4"FF
<|

3 5 2 6 1 0 8
|>

EL BO W  FLA N G E ø 1 /2 "F
inlet ø 3/4"F - outlet ø 3/4"F with screws and "O" ring

 thermocouple connection M9x1  for ELETTROSIT VALVE
 maximum gas inlet pressure 50 mbar  
 pressure adjustment range  
 3÷18 mbar  
 ambient temperature 0÷60°C  
 power supply 24V 50Hz  
 pilot connection and LOWER thermocouple  

    

SIT  0.810.171  SIT

<|

3 5 2 6 0 9 3
|>

EX TEN S IO N FO R  ELET T RO SIT BU T TO N  34  m m
<|

3 0 0 1 0 0 8
|>

P IEZ O IGN ITER
for switching on/off buttons a ø 14 mm hole is required for the assembly

  faston M ø 2.4 mm

    

SIT  SIT  0.073.953

<|

3 5 2 6 1 0 6
|>

S TR A IG H T FL A NG E ø  1 /2 "
<|

3 5 2 6 1 0 7
|>

S TR A IG H T FL A NG E ø  3 /4 "F
with screws and "O" ring with screws and "O" ring

 for ELETTROSIT VALVE  for ELETTROSIT VALVE

    

SIT  SIT

<|

3 5 2 6 0 9 6
|>

VA L V E M IC R OS W IT C H
<| |>

maximum load 0.2 A
 for VALVE ELETTROSIT-820 NOVA-824 NOVASIT  

    

SIT  0.927.012  

<T1

SIT
T1>



Suitable for: Suitable for:

<|

3 5 2 6 0 9 0
|>

EL ETT R OS IT  VA L VE ø 3 /4"FF
<|

3 5 2 6 1 3 7
|>

BU TT O N FO R  ELET TR O SIT V A LV E 4 6  m m
inlet ø 3/4"F - outlet ø 3/4"F

 thermocouple connection M9x1  
 maximum gas inlet pressure 50 mbar  
 pressure adjustment range  
 3÷18 mbar  
 ambient temperature 0÷60°C  
 power supply 230V 50Hz  
 long buttons  
 pilot connection and LATERAL thermocouple  

    

SIT  0.810.175  SIT

<|

3 5 2 6 1 0 0
|>

C O IL  2 2 0 V
<|

3 5 2 6 1 0 8
|>

EL BO W  FLA N G E ø 1 /2 "F
for VALVE ELETTROSIT with screws and "O" ring

  for ELETTROSIT VALVE

    

SIT  0.967.041  SIT

<|

3 5 2 6 0 9 3
|>

EX TEN S IO N FO R  ELET T RO SIT BU T TO N  34  m m
<|

4 0 5 7 8 6 2
|>

FITT IN G  ø  3 /4 "M -3 /4 "M  BR A SS
for switching on/off buttons

    

SIT  

<|

3 0 0 1 0 0 8
|>

P IEZ O IGN ITER
<|

3 5 2 6 1 3 6
|>

S PR ING  FO R P U SH -BU TT ON
a ø 14 mm hole is required for the assembly

 faston M ø 2.4 mm  

    

SIT  0.073.953  SIT

<|

3 5 2 6 1 0 6
|>

S TR A IG H T FL A NG E ø  1 /2 "
<|

3 5 2 6 1 0 7
|>

S TR A IG H T FL A NG E ø  3 /4 "F
with screws and "O" ring with screws and "O" ring

 for ELETTROSIT VALVE  for ELETTROSIT VALVE

    

SIT  SIT

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 5 2 6 0 9 6
|>

VA L V E M IC R OS W IT C H
<| |>

maximum load 0.2 A
 for VALVE ELETTROSIT-820 NOVA-824 NOVASIT  

    

SIT  0.927.012  

<|

3 5 2 6 2 9 0
|>

VA L V E ELET TR O SIT ø 3 /4"FF
<|

3 5 2 6 1 0 8
|>

EL BO W  FLA N G E ø 1 /2 "F
inlet ø 3/4"F - outlet ø 3/4"F with screws and "O" ring

 thermocouple connection 11/32"  for ELETTROSIT VALVE
 maximum gas inlet pressure 50 mbar  
 setting range of the pressure  
 adjuster 3÷18 mbar  
 room temperature 0÷60°C  
 power supply 230V 50Hz  
 pilot connection and BOTTOM thermocouple  

    

SIT  0.810.200  SIT

<|

3 0 2 0 0 8 3
|>

N UT  &  OL IV E ø 4  m m
<|

3 0 2 0 0 8 4
|>

N UT  &  OL IV E ø 6  m m

    

SIT  0.958.030  SIT  0.958.031

<|

1 1 8 6 7 5 9
|>

O -R ING  0 3 1 0 6  EPD M
<|

3 0 0 1 0 0 8
|>

P IEZ O IGN ITER
a ø 14 mm hole is required for the assembly

  faston M ø 2.4 mm

    

SIT  0.925.026  SIT  0.073.953

<|

3 5 2 6 1 0 6
|>

S TR A IG H T FL A NG E ø  1 /2 "
<|

3 5 2 6 1 0 7
|>

S TR A IG H T FL A NG E ø  3 /4 "F
with screws and "O" ring with screws and "O" ring

 for ELETTROSIT VALVE  for ELETTROSIT VALVE

    

SIT  SIT

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 5 2 6 0 9 6
|>

VA L V E M IC R OS W IT C H
<| |>

maximum load 0.2 A
 for VALVE ELETTROSIT-820 NOVA-824 NOVASIT  

    

SIT  0.927.012  

<|

3 5 2 6 0 7 9
|>

VA L V E 82 0  N O VA  ø 1 /2 "FF
<|

3 5 2 6 2 7 0
|>

VA L V E 82 0  N O VA  EX TEN SION
inlet ø 1/2"F - outlet ø 1/2"F D shaft ø 10x8 mm

 thermocouple fitting M9x1  
 maximum gas inlet pressure 60 mbar  
 outlet pressure setting range  
 3÷30 mbar  
 room temperature 0÷70°C  
 power supply 230V 50Hz  

    

SIT  0.820.010 SIT  0.820.012  SIT

<|

3 5 2 6 0 9 8
|>

C O IL  2 2 0 V
<|

3 5 2 6 0 9 9
|>

C O IL  2 4 V
for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA

    

SIT  0.967.064  SIT  0.967.065

<|

3 5 2 6 0 7 7
|>

EL BO W  FLA N G E ø 1 /2 "F
<|

3 5 2 6 0 7 8
|>

EL BO W  FLA N G E ø 3 /4 "F
complete with screws and O-Ring complete with screws and O-Ring

 for valves SIT 820-Honeywell V4400-V4600-VR4605P  for valves SIT 820-Honeywell V4400-V4600-VR4605P

    

SIT  0.906.260  SIT  0.906.258

<|

3 5 2 6 1 0 2
|>

EL EC T RIC  C O UP L IN G   W IT H C A BLE
<|

5 0 4 7 5 8 6
|>

EX TEN S IO N FO R  VA L VE 8 2 0  N OV A
for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA D-shaped pin ø 10x8 mm

    

SIT  0.960.015 SIT  0.960.103 SIT  0.960.104  

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 2 4 1 1 4 1
|>

EX TEN S IO N FO R  8 2 0 N O VA  VA L V E
<|

4 0 5 7 8 6 2
|>

FITT IN G  ø  3 /4 "M -3 /4 "M  BR A SS
D-shaped pin 10x8 mm

 for OVEN- FRYER  

    

SIT  

<|

3 5 2 6 1 2 4
|>

K NO B EX TEN S IO N L EN G TH  7 7  m m
<|

3 2 4 1 1 4 2
|>

K NO B G A SK ET ø  4 4  m m
for VALVE 820 NOVA-824 NOVASIT

    

SIT  0.999.957  SIT

<|

3 1 8 2 0 0 8
|>

M A GN ET IC  U N IT  SIT
<|

3 0 2 0 0 8 3
|>

N UT  &  OL IV E ø 4  m m
ø head 35 mm - ø end 20 mm - length 47 mm

 for valve SIT NOVASIT 820  

    

SIT  0.006.245  SIT  0.958.030

<|

3 0 2 0 0 8 4
|>

N UT  &  OL IV E ø 6  m m
<|

3 0 0 1 0 0 8
|>

P IEZ O IGN ITER
a ø 14 mm hole is required for the assembly

  faston M ø 2.4 mm

    

SIT  0.958.031  SIT  0.073.953

<|

3 5 2 6 1 0 3
|>

P R OT EC TIN G C OV ER
<|

3 5 2 6 0 7 5
|>

S TR A IG H T FL A NG E ø  1 /2 "
for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA complete with screws and O-Ring

  for valves SIT 820-Honeywell V4400-V4600-VR4605P

    

SIT  0.903.094  SIT  0.906.261

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 5 2 6 0 7 6
|>

S TR A IG H T FL A NG E ø  3 /4 "
<|

5 0 1 2 5 9 5
|>

VA L V E EXT EN SION  8 2 0  NO VA
complete with screws and O-Ring D-shaped pin ø 6x4.6 mm

 for valves SIT 820-Honeywell V4400-V4600-VR4605P  

    

SIT  0.906.259  

<|

3 5 2 6 0 9 6
|>

VA L V E M IC R OS W IT C H
<|

3 5 2 6 2 6 9
|>

VA L V E 82 0  N O VA  EX TEN SION
maximum load 0.2 A D shaft ø 10x8 mm

 for VALVE ELETTROSIT-820 NOVA-824 NOVASIT  

    

SIT  0.927.012  

<|

3 5 2 6 1 8 3
|>

VA L V E 82 0  N O VA  ø 1 /2 "FF
<|

3 5 2 6 0 9 8
|>

C O IL  2 2 0 V
inlet ø 1/2"F - outlet ø 1/2"F for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA

 thermocouple fitting M9x1  
 maximum gas inlet pressure 60 mbar  
 outlet pressure setting range  
 3÷30 mbar  
 room temperature 0÷70°C  
 power supply 230V 60Hz  

    

SIT  0.820.060  SIT  0.967.064

<|

3 5 2 6 0 9 9
|>

C O IL  2 4 V
<|

3 5 2 6 0 7 7
|>

EL BO W  FLA N G E ø 1 /2 "F
for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA complete with screws and O-Ring

  for valves SIT 820-Honeywell V4400-V4600-VR4605P

    

SIT  0.967.065  SIT  0.906.260

<|

3 5 2 6 0 7 8
|>

EL BO W  FLA N G E ø 3 /4 "F
<|

3 5 2 6 1 0 2
|>

EL EC T RIC  C O UP L IN G   W IT H C A BLE
complete with screws and O-Ring for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA

 for valves SIT 820-Honeywell V4400-V4600-VR4605P  

    

SIT  0.906.258  SIT  0.960.015 SIT  0.960.103 SIT  0.960.104

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 5 2 6 1 2 4
|>

K NO B EX TEN S IO N L EN G TH  7 7  m m
<|

3 1 8 2 0 0 8
|>

M A GN ET IC  U N IT  SIT
for VALVE 820 NOVA-824 NOVASIT ø head 35 mm - ø end 20 mm - length 47 mm

  for valve SIT NOVASIT 820

    

SIT  0.999.957  SIT  0.006.245

<|

3 0 2 0 0 8 3
|>

N UT  &  OL IV E ø 4  m m
<|

3 0 2 0 0 8 4
|>

N UT  &  OL IV E ø 6  m m

    

SIT  0.958.030  SIT  0.958.031

<|

3 0 0 1 0 0 8
|>

P IEZ O IGN ITER
<|

3 5 2 6 1 0 3
|>

P R OT EC TIN G C OV ER
a ø 14 mm hole is required for the assembly for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA

 faston M ø 2.4 mm  

    

SIT  0.073.953  SIT  0.903.094

<|

3 5 2 6 0 7 5
|>

S TR A IG H T FL A NG E ø  1 /2 "
<|

3 5 2 6 0 7 6
|>

S TR A IG H T FL A NG E ø  3 /4 "
complete with screws and O-Ring complete with screws and O-Ring

 for valves SIT 820-Honeywell V4400-V4600-VR4605P  for valves SIT 820-Honeywell V4400-V4600-VR4605P

    

SIT  0.906.261  SIT  0.906.259

<|

3 5 2 6 0 9 6
|>

VA L V E M IC R OS W IT C H
<| |>

maximum load 0.2 A
 for VALVE ELETTROSIT-820 NOVA-824 NOVASIT  

    

SIT  0.927.012  

<T1

SIT
T1>



Suitable for: Suitable for:

<|

3 5 2 6 3 6 1
|>

VA L V E 82 2  N O VA  ø 1 /2 "FF
<|

3 5 2 6 0 9 8
|>

C O IL  2 2 0 V
inlet ø 1/2"F - outlet ø 1/2"F for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA

 thermocouple fitting M10x1  
 maximum gas inlet pressure 60 mbar  
 outlet pressure setting range  
 3÷30 mbar  
 ambient temperature 0÷60°C  
 power supply 230V 50Hz  

    

SIT  0.822.110  SIT  0.967.064

<|

3 5 2 6 0 9 9
|>

C O IL  2 4 V
<|

3 5 2 6 0 7 7
|>

EL BO W  FLA N G E ø 1 /2 "F
for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA complete with screws and O-Ring

  for valves SIT 820-Honeywell V4400-V4600-VR4605P

    

SIT  0.967.065  SIT  0.906.260

<|

3 5 2 6 0 7 8
|>

EL BO W  FLA N G E ø 3 /4 "F
<|

3 5 2 6 1 0 2
|>

EL EC T RIC  C O UP L IN G   W IT H C A BLE
complete with screws and O-Ring for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA

 for valves SIT 820-Honeywell V4400-V4600-VR4605P  

    

SIT  0.906.258  SIT  0.960.015 SIT  0.960.103 SIT  0.960.104

<|

3 0 2 0 0 8 3
|>

N UT  &  OL IV E ø 4  m m
<|

3 0 2 0 0 8 4
|>

N UT  &  OL IV E ø 6  m m

    

SIT  0.958.030  SIT  0.958.031

<|

3 5 2 6 1 0 3
|>

P R OT EC TIN G C OV ER
<|

3 5 2 6 0 7 5
|>

S TR A IG H T FL A NG E ø  1 /2 "
for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA complete with screws and O-Ring

  for valves SIT 820-Honeywell V4400-V4600-VR4605P

    

SIT  0.903.094  SIT  0.906.261

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 5 2 6 0 7 6
|>

S TR A IG H T FL A NG E ø  3 /4 "
<| |>

complete with screws and O-Ring
 for valves SIT 820-Honeywell V4400-V4600-VR4605P  

    

SIT  0.906.259  

<|

3 5 2 6 1 7 5
|>

VA L V E 82 2  N O VA  2 3 0 V 5 0 H z
<|

3 5 2 6 0 9 8
|>

C O IL  2 2 0 V
inlet ø 1/2"F - outlet ø 1/2"F for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA

 gas inlet max.pressure 60 mbar  
 outlet pressure range  
 3÷30 mbar  
 room temperature 0÷60°C  
 power supply 230V 50Hz  

    

SIT  0.822.114 SIT  0.822.144  SIT  0.967.064

<|

3 5 2 6 0 9 9
|>

C O IL  2 4 V
<|

3 5 2 6 0 7 7
|>

EL BO W  FLA N G E ø 1 /2 "F
for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA complete with screws and O-Ring

  for valves SIT 820-Honeywell V4400-V4600-VR4605P

    

SIT  0.967.065  SIT  0.906.260

<|

3 5 2 6 0 7 8
|>

EL BO W  FLA N G E ø 3 /4 "F
<|

3 5 2 6 1 0 2
|>

EL EC T RIC  C O UP L IN G   W IT H C A BLE
complete with screws and O-Ring for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA

 for valves SIT 820-Honeywell V4400-V4600-VR4605P  

    

SIT  0.906.258  SIT  0.960.015 SIT  0.960.103 SIT  0.960.104

<|

3 0 2 0 0 8 3
|>

N UT  &  OL IV E ø 4  m m
<|

3 0 2 0 0 8 4
|>

N UT  &  OL IV E ø 6  m m

    

SIT  0.958.030  SIT  0.958.031

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 5 2 6 1 0 3
|>

P R OT EC TIN G C OV ER
<|

3 5 2 6 0 7 5
|>

S TR A IG H T FL A NG E ø  1 /2 "
for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA complete with screws and O-Ring

  for valves SIT 820-Honeywell V4400-V4600-VR4605P

    

SIT  0.903.094  SIT  0.906.261

<|

3 5 2 6 0 7 6
|>

S TR A IG H T FL A NG E ø  3 /4 "
<| |>

complete with screws and O-Ring
 for valves SIT 820-Honeywell V4400-V4600-VR4605P  

    

SIT  0.906.259  

<|

3 5 2 3 0 8 4
|>

VA L V E 82 6  N O VA  ø 1 /2 "FF
<|

3 5 2 6 0 9 8
|>

C O IL  2 2 0 V
inlet ø 1/2"F - outlet ø 1/2"F for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA

 maximum gas inlet pressure 60 mbar  
 outlet pressure range setting  
 2÷50 mbar  
 room temperature 0÷60°C  
 power supply 230V 50Hz  

    

SIT  0.826.011  SIT  0.967.064

<|

3 5 2 6 0 9 9
|>

C O IL  2 4 V
<|

3 0 3 0 0 0 1
|>

C O U PL IN G  EL EC TR IC  W IT H  C A BLE
for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA for valve sit 824 NOVA-826 NOVA-836 TANDEM

    

SIT  0.967.065  SIT  0.960.018 SIT  0.960.118

<|

3 5 2 6 0 7 7
|>

EL BO W  FLA N G E ø 1 /2 "F
<|

3 5 2 6 0 7 8
|>

EL BO W  FLA N G E ø 3 /4 "F
complete with screws and O-Ring complete with screws and O-Ring

 for valves SIT 820-Honeywell V4400-V4600-VR4605P  for valves SIT 820-Honeywell V4400-V4600-VR4605P

    

SIT  0.906.260  SIT  0.906.258

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 5 2 6 1 0 2
|>

EL EC T RIC  C O UP L IN G   W IT H C A BLE
<|

3 5 2 6 1 4 3
|>

M OD UL A TO R  C OIL
for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA 220V  rectified

  for VALVE 836 TANDEM

    

SIT  0.960.015 SIT  0.960.103 SIT  0.960.104  SIT  0.967.135

<|

3 0 2 0 0 8 3
|>

N UT  &  OL IV E ø 4  m m
<|

3 0 2 0 0 8 4
|>

N UT  &  OL IV E ø 6  m m

    

SIT  0.958.030  SIT  0.958.031

<|

3 5 2 6 1 0 3
|>

P R OT EC TIN G C OV ER
<|

3 5 2 6 0 7 5
|>

S TR A IG H T FL A NG E ø  1 /2 "
for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA complete with screws and O-Ring

  for valves SIT 820-Honeywell V4400-V4600-VR4605P

    

SIT  0.903.094  SIT  0.906.261

<|

3 5 2 6 0 7 6
|>

S TR A IG H T FL A NG E ø  3 /4 "
<| |>

complete with screws and O-Ring
 for valves SIT 820-Honeywell V4400-V4600-VR4605P  

    

SIT  0.906.259  

<|

2 1 1 0 0 2 7
|>

VA L V E 82 7  N O VA  ø 1 /2 "FF
<|

3 5 2 6 0 9 8
|>

C O IL  2 2 0 V
inlet  ø  1/2"F - outlet  ø  1/2"F for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA

 maximum gas inlet pressure   60 mbar  
 outlet pressure calibration field  
 2÷20 mbar  
 ambient temperature 0÷60°C  
 power supply 220/240V 50Hz  

    

SIT  0.827.110  SIT  0.967.064

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 0 3 0 0 0 1
|>

C O U PL IN G  EL EC TR IC  W IT H  C A BLE
<|

3 5 2 6 0 7 7
|>

EL BO W  FLA N G E ø 1 /2 "F
for valve sit 824 NOVA-826 NOVA-836 TANDEM complete with screws and O-Ring

  for valves SIT 820-Honeywell V4400-V4600-VR4605P

    

SIT  0.960.018 SIT  0.960.118  SIT  0.906.260

<|

3 5 2 6 0 7 8
|>

EL BO W  FLA N G E ø 3 /4 "F
<|

3 5 2 6 1 0 2
|>

EL EC T RIC  C O UP L IN G   W IT H C A BLE
complete with screws and O-Ring for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA

 for valves SIT 820-Honeywell V4400-V4600-VR4605P  

    

SIT  0.906.258  SIT  0.960.015 SIT  0.960.103 SIT  0.960.104

<|

3 0 2 0 0 8 3
|>

N UT  &  OL IV E ø 4  m m
<|

3 0 2 0 0 8 4
|>

N UT  &  OL IV E ø 6  m m

    

SIT  0.958.030  SIT  0.958.031

<|

3 5 2 6 1 0 3
|>

P R OT EC TIN G C OV ER
<|

3 5 2 6 0 7 5
|>

S TR A IG H T FL A NG E ø  1 /2 "
for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA complete with screws and O-Ring

  for valves SIT 820-Honeywell V4400-V4600-VR4605P

    

SIT  0.903.094  SIT  0.906.261

<|

3 5 2 6 0 7 6
|>

S TR A IG H T FL A NG E ø  3 /4 "
<| |>

complete with screws and O-Ring
 for valves SIT 820-Honeywell V4400-V4600-VR4605P  

    

SIT  0.906.259  

<T1

SIT
T1>



Suitable for: Suitable for:

<|

3 5 2 6 1 0 4
|>

VA L V E 83 0  T A ND EM  ø  1 /2 "FF
<|

2 1 0 0 7 2 4
|>

C O IL  2 4 V
inlet ø 1/2"F - outlet ø 1/2"F for valve 830 TANDEM-836 TANDEM

 maximum gas inlet pressure 60 mbar  
 outlet pressure adjustment range  
 3÷50 mbar  
 with slow start  
 room temperature 0÷60°C  
 power supply 230V 50Hz  

    

SIT  0.830.034  SIT  0.967.091

<|

3 5 2 6 2 9 2
|>

C O U PL IN G  EL EC TR IC  W IT H  C A BLE
<|

3 5 2 6 1 4 2
|>

D O UB LE C OIL FO R  VA L VE
for valve sit 836 TANDEM 220V 50Hz

  for VALVE 830 TANDEM-836 TANDEM

    

SIT  0.960.016 SIT  0.960.107  SIT  0.967.090

<|

3 0 2 0 0 8 3
|>

N UT  &  OL IV E ø 4  m m
<|

3 0 2 0 0 8 4
|>

N UT  &  OL IV E ø 6  m m

    

SIT  0.958.030  SIT  0.958.031

<|

3 3 4 8 0 4 1
|>

P IP E O LIVE ø  16  m m
<| |>

for model PEL 23

    

SIT  0.957.008  

<|

3 5 2 6 1 4 1
|>

VA L V E 83 0  T A ND EM  ø  1 /2 "FF
<|

2 1 0 0 7 2 4
|>

C O IL  2 4 V
inlet ø 1/2"F - outlet ø 1/2"F for valve 830 TANDEM-836 TANDEM

 thermocouple fitting M10x1  
 maximum gas inlet pressure 60 mbar  
 outlet gas pressure setting range3÷50 mbar  
 room temperature 0÷60°C  
 power supply 230V 50Hz  

    

SIT  0.830.040  SIT  0.967.091

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 5 2 6 2 9 2
|>

C O U PL IN G  EL EC TR IC  W IT H  C A BLE
<|

3 5 2 6 1 4 2
|>

D O UB LE C OIL FO R  VA L VE
for valve sit 836 TANDEM 220V 50Hz

  for VALVE 830 TANDEM-836 TANDEM

    

SIT  0.960.016 SIT  0.960.107  SIT  0.967.090

<|

3 0 2 0 0 8 3
|>

N UT  &  OL IV E ø 4  m m
<|

3 0 2 0 0 8 4
|>

N UT  &  OL IV E ø 6  m m

    

SIT  0.958.030  SIT  0.958.031

<|

3 3 4 8 0 4 1
|>

P IP E O LIVE ø  16  m m
<| |>

for model PEL 23

    

SIT  0.957.008  

<|

3 5 2 6 2 1 2
|>

VA L V E 83 0  T A ND EM  ø  1 /2 "FF
<|

2 1 0 0 7 2 4
|>

C O IL  2 4 V
inlet ø 1/2"F - outlet ø 1/2"F for valve 830 TANDEM-836 TANDEM

 maximum gas inlet pressure 60 mbar  
 outlet pressure range setting  
 3÷50 mbar  
 room temperature 0÷60°C  
 power supply 220/240V 50Hz  

    

SIT  0.830.041  SIT  0.967.091

<|

3 5 2 6 2 9 2
|>

C O U PL IN G  EL EC TR IC  W IT H  C A BLE
<|

3 5 2 6 1 4 2
|>

D O UB LE C OIL FO R  VA L VE
for valve sit 836 TANDEM 220V 50Hz

  for VALVE 830 TANDEM-836 TANDEM

    

SIT  0.960.016 SIT  0.960.107  SIT  0.967.090

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 0 2 0 0 8 3
|>

N UT  &  OL IV E ø 4  m m
<|

3 0 2 0 0 8 4
|>

N UT  &  OL IV E ø 6  m m

    

SIT  0.958.030  SIT  0.958.031

<|

3 3 4 8 0 4 1
|>

P IP E O LIVE ø  16  m m
<| |>

for model PEL 23

    

SIT  0.957.008  

<|

3 5 2 6 1 4 0
|>

VA L V E 83 6  T A ND EM  ø  1 /2 "FF
<|

2 1 0 0 7 2 4
|>

C O IL  2 4 V
inlet ø 1/2"F - outlet ø 1/2"F for valve 830 TANDEM-836 TANDEM

 maximum gas inlet pressure 60 mbar  
 max.gas outlet pressure adjustment range 7÷50 mbar  
 outlet gas pressure setting range min.2÷45 mbar  
 room temperature 0÷60°C  
 power supply 230V 30A rectified  

    

SIT  0.836.010  SIT  0.967.091

<|

3 0 3 0 0 0 1
|>

C O U PL IN G  EL EC TR IC  W IT H  C A BLE
<|

3 5 2 6 2 9 2
|>

C O U PL IN G  EL EC TR IC  W IT H  C A BLE
for valve sit 824 NOVA-826 NOVA-836 TANDEM for valve sit 836 TANDEM

    

SIT  0.960.018 SIT  0.960.118  SIT  0.960.016 SIT  0.960.107

<|

3 5 2 6 1 4 2
|>

D O UB LE C OIL FO R  VA L VE
<|

3 5 2 6 1 4 3
|>

M OD UL A TO R  C OIL
220V 50Hz 220V  rectified

 for VALVE 830 TANDEM-836 TANDEM  for VALVE 836 TANDEM

    

SIT  0.967.090  SIT  0.967.135

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 0 2 0 0 8 3
|>

N UT  &  OL IV E ø 4  m m
<|

3 0 2 0 0 8 4
|>

N UT  &  OL IV E ø 6  m m

    

SIT  0.958.030  SIT  0.958.031

<|

3 3 4 8 0 4 1
|>

P IP E O LIVE ø  16  m m
<| |>

for model PEL 23

    

SIT  0.957.008  

<|

2 1 0 1 9 9 2
|>

VA L V E 84 0  S IG M A  ø 3 /4 "M M
<| |>

inlet ø 3/4"M - outlet ø 3/4"M
 max. pressure of inlet gas 60 mbar  
 calibration field of outlet pressure  
 2÷50 mbar  
 room temperature 0÷60°C  
 power supply 220V 60Hz  

    

SIT  0.840.028  

<|

3 5 2 6 2 1 0
|>

VA L V E 84 0  S IG M A  ø 3 /4 "M M
<|

2 1 1 0 6 1 8
|>

D O UB LE C OIL FO R  VA L VE
inlet ø 3/4"M - outlet ø 3/4"M 230V 50Hz

 maximum gas inlet pressure 60 mbar  for VALVE 840 SIGMA-848 SIGMA
 outlet pressure range setting  
 2÷50 mbar  
 room temperature 0÷60°C  
 power supply 230V 50Hz 9.2VA  

    

SIT  0.840.020  SIT  0.967.003 SIT  0.967.158

<T1

SIT
T1>



Suitable for: Suitable for:

<|

3 5 2 6 0 1 2
|>

VA L V E 84 8  S IG M A  ø 3 /4 "M M
<|

2 1 1 0 6 1 8
|>

D O UB LE C OIL FO R  VA L VE
inlet ø 3/4"M - outlet ø 3/4"M 230V 50Hz

 maximum gas inlet pressure 60 mbar  for VALVE 840 SIGMA-848 SIGMA
 outlet pressure range setting  
 0.5÷12 mbar  
 room temperature 0÷60°C  
 power supply 230V 50Hz 2.8VA  

    

SIT  0.848.037  SIT  0.967.003 SIT  0.967.158

<|

5 0 6 3 6 5 3
|>

VA L V E 84 8  S IG M A  ø 3 /4 "M M
<|

2 1 1 0 6 1 8
|>

D O UB LE C OIL FO R  VA L VE
inlet ø 3/4"M - outlet ø 3/4"M 230V 50Hz

 maximum gas inlet pressure 60 mbar  for VALVE 840 SIGMA-848 SIGMA
 outlet pressure setting 0.5÷12 mbar  
 ambient temperature 0÷60°C  
 power supply 230V 50Hz 2.8/9.2VA  

    

SIT  0.848.083  SIT  0.967.003 SIT  0.967.158

<|

3 5 2 6 0 0 9
|>

VA L V E8 20  N O VA  ø 1 /2 "FF
<|

4 0 5 6 0 0 9
|>

C A P  FOR  V A LV E EU RO SIT
inlet ø 1/2"F - outlet ø 1/2"F

 thermocouple fitting M9x1  
 gas max inlet pressure 60 mbar  
 outlet pressure setting range  
 3÷30 mbar  
 room temperature 0÷70°C  
 power supply 230V 50Hz  
 slow ignition  

    

SIT  0.820.034  SIT  0.972.035 SIT  0.972.058

<|

3 5 2 6 0 9 8
|>

C O IL  2 2 0 V
<|

3 5 2 6 0 9 9
|>

C O IL  2 4 V
for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA

    

SIT  0.967.064  SIT  0.967.065

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 5 2 6 0 7 7
|>

EL BO W  FLA N G E ø 1 /2 "F
<|

3 5 2 6 0 7 8
|>

EL BO W  FLA N G E ø 3 /4 "F
complete with screws and O-Ring complete with screws and O-Ring

 for valves SIT 820-Honeywell V4400-V4600-VR4605P  for valves SIT 820-Honeywell V4400-V4600-VR4605P

    

SIT  0.906.260  SIT  0.906.258

<|

3 5 2 6 1 0 2
|>

EL EC T RIC  C O UP L IN G   W IT H C A BLE
<|

3 5 2 6 1 2 4
|>

K NO B EX TEN S IO N L EN G TH  7 7  m m
for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA for VALVE 820 NOVA-824 NOVASIT

    

SIT  0.960.015 SIT  0.960.103 SIT  0.960.104  SIT  0.999.957

<|

3 1 8 2 0 0 8
|>

M A GN ET IC  U N IT  SIT
<|

3 0 2 0 0 8 3
|>

N UT  &  OL IV E ø 4  m m
ø head 35 mm - ø end 20 mm - length 47 mm

 for valve SIT NOVASIT 820  

    

SIT  0.006.245  SIT  0.958.030

<|

3 0 2 0 0 8 4
|>

N UT  &  OL IV E ø 6  m m
<|

3 0 0 1 0 0 8
|>

P IEZ O IGN ITER
a ø 14 mm hole is required for the assembly

  faston M ø 2.4 mm

    

SIT  0.958.031  SIT  0.073.953

<|

3 5 2 6 1 0 3
|>

P R OT EC TIN G C OV ER
<|

3 5 2 6 0 7 5
|>

S TR A IG H T FL A NG E ø  1 /2 "
for VALVE 820 NOVA-824 NOVASIT-822 NOVA-826 NOVA complete with screws and O-Ring

  for valves SIT 820-Honeywell V4400-V4600-VR4605P

    

SIT  0.903.094  SIT  0.906.261

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 5 2 6 0 7 6
|>

S TR A IG H T FL A NG E ø  3 /4 "
<|

3 5 2 6 0 9 6
|>

VA L V E M IC R OS W IT C H
complete with screws and O-Ring maximum load 0.2 A

 for valves SIT 820-Honeywell V4400-V4600-VR4605P  for VALVE ELETTROSIT-820 NOVA-824 NOVASIT

    

SIT  0.906.259  SIT  0.927.012

<T2

Electronic boxes
T2>

<|

3 0 9 1 0 3 1
|>

C O N TR OL  BO X 5 0 1  EFD
<|

3 0 9 1 0 1 2
|>

C O N TR OL  BO X 5 0 3  ED F FO R  TA N D EM
model SIT - 230V 50/60Hz 10A model SIT - 220/240V 50/60Hz 7VA

    

SIT  0.501.001 SIT  0.501.201  SIT  0.503.003

<|

3 0 9 1 0 2 5
|>

C O N TR OL  BO X 5 0 3  EFD  FO R  TA N D EM
<|

3 0 9 1 0 2 4
|>

C O N TR OL  BO X 5 3 7  A BC
model SIT - 230V 50/60Hz 10VA model SIT - 230V 50/60Hz 10VA

    

SIT  0.503.004  SIT  0.537.001

<|

3 0 9 1 0 2 9
|>

C O N TR OL  BO X 5 3 7  A BC
<|

3 0 9 1 0 1 5
|>

C O N TR OL  BO X 5 7 7  D BC
SIT model - 220/240V 50/60Hz 12VA model SIT - 220/240V 50/60Hz 20VA

 for 6 SHELVES  

    

SIT  0.537.307  SIT  0.577.307

<|

2 1 0 1 3 3 8
|>

C O N TR OL  BO X 5 7 9  D BC
<|

7 1 0 5 2 8 9
|>

C O N TR OL  BO X 5 7 9  D BC
SIT model - 220/240V 50/60Hz 12VA model SIT - 220/240V 50/60Hz 12VA

    

SIT  0.579.414  SIT  0.577.409 SIT  0.579.409

<T1

SIT
T1>



Suitable for: Suitable for:

<|

4 0 C 4 2 6 0
|>

C O N TR OL  U NIT 5 7 9  D BC
<|

3 0 9 1 0 0 5
|>

K IT  C ON T RO L  BOX  5 7 1  D BC
SIT model - 220/240V 50/60Hz 12VA complete with cable

  model SIT - 230V 50/60Hz

    

SIT  0.579.411  SIT  0.501.213 SIT  0.571.202

<T2

Gas valves and accessories
T2>

<|

2 1 1 0 8 1 8
|>

VA L V E M IN IS IT O VE N 1 0 0 ÷3 4 0 °C
<|

3 5 2 3 0 3 5
|>

K NO B M IN ISIT BL A C K  ø 3 7  m m
inlet ø 1/2"F - outlet ø 3/8"F

 thermocouple connection M9x1  
 maximum pressure of inlet gas 50 mbar  
 ambient temperature 0÷80°C  
 with outlet pressure adjustment screw  
 capillary length 1050 mm  
 bulb ø 4x72 mm  
 provided without lid, knob and flange  

    

SIT  0.710.655  SIT  0.916.124

<|

3 1 8 2 0 0 3
|>

M A GN ET IC  U N IT  SIT
<|

3 5 2 3 0 4 7
|>

M IN IS IT  C O VER
ø head 25 mm - ø end 17 mm - length 56 mm

 for valve SIT AC2 - VR8-MINISIT  

    

SIT  0.006.443  SIT  0.903.052

<|

3 5 2 3 0 3 8
|>

M IN IS IT  EL BOW  F LA N G E ø 1 /2 "F
<|

3 5 2 3 0 3 7
|>

M IN IS IT  EL BOW  F LA N G E ø 3 /8 "
with screws and "O" ring with screws and "O" ring

    

SIT  SIT SIT  0.906.270

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 0 0 1 0 7 1
|>

M IN IS IT  P IEZ O IGN ITER  W IT H  C OV ER
<|

3 5 2 3 0 4 8
|>

M IN IS IT  SEN S IN G  ELEM EN T  10 0 ÷ 34 0 °C
male faston 2.4 mm stainless steel capillary length1050 mm

  bulb ø 4x72 mm

    

SIT  0.073.005 SIT  0.073.006 SIT  0.073.015  SIT  0.928.582

SIT  0.073.203  

<|

3 5 2 3 0 6 1
|>

N UT  ø 1 /4 "x6  m m
<|

3 5 2 3 0 6 0
|>

O IL  SEA L  FIT TING  ø  6 .5  m m
internal thread M10x0.75 - external thread M14x1.5

    

SIT  0.992.032  SIT  0.974.502

<|

3 0 2 0 0 8 2
|>

O LIVE FO R  1 2 m m  ø P IP E
<|

3 0 2 0 0 7 9
|>

P IP E FITT IN G  ø  1 2  m m
thread ø 3/8"F

    

SIT  0.957.007  SIT  0.958.025

<|

3 3 4 8 0 4 4
|>

P IP E O LIVE ø  10  m m
<|

3 3 4 8 0 4 1
|>

P IP E O LIVE ø  16  m m
for model PEL 20 - 21 for model PEL 23

    

SIT  0.957.004  SIT  0.957.008

<|

3 5 2 3 0 3 6
|>

R ED U C TIO N S TR A IG H T ø  3/8 "F  - ø 1 /2 "F
<| |>

in brass with internal and external thread
 ø internal thread 3/8"F - ø external thread 1/2"F  
 for MINISIT flange  

    

SIT  0.974.074  

<T1

SIT
T1>



Suitable for: Suitable for:

<|

2 1 1 1 7 1 7
|>

VA L V E M IN IS IT O VE N 7 0 ÷2 7 0 °C
<|

3 5 2 3 0 3 5
|>

K NO B M IN ISIT BL A C K  ø 3 7  m m
inlet ø 1/2"F - outlet ø 3/8"F

 thermocouple connection M9x1  
 gas inlet maximum pressure 50 mbar  
 ambient temperature 0÷60°C  
 capillary length 1050 mm  
 bulb ø 5x104 mm  
 delivered without lid, knob and flanges  

    

SIT  0.710.653  SIT  0.916.124

<|

3 1 8 2 0 0 3
|>

M A GN ET IC  U N IT  SIT
<|

3 5 2 3 0 4 7
|>

M IN IS IT  C O VER
ø head 25 mm - ø end 17 mm - length 56 mm

 for valve SIT AC2 - VR8-MINISIT  

    

SIT  0.006.443  SIT  0.903.052

<|

3 5 2 3 0 3 8
|>

M IN IS IT  EL BOW  F LA N G E ø 1 /2 "F
<|

3 5 2 3 0 3 7
|>

M IN IS IT  EL BOW  F LA N G E ø 3 /8 "
with screws and "O" ring with screws and "O" ring

    

SIT  SIT SIT  0.906.270

<|

3 0 0 1 0 7 1
|>

M IN IS IT  P IEZ O IGN ITER  W IT H  C OV ER
<|

3 5 2 3 0 4 0
|>

M IN IS IT  SEN S IN G  ELEM EN T  10 0 ÷ 34 0 °C
male faston 2.4 mm capillary length 1050 mm

  bulb ø 5x70 mm

    

SIT  0.073.005 SIT  0.073.006 SIT  0.073.015  SIT  0.928.561

SIT  0.073.203  

<|

3 5 2 3 0 6 1
|>

N UT  ø 1 /4 "x6  m m
<|

3 5 2 3 0 6 0
|>

O IL  SEA L  FIT TING  ø  6 .5  m m
internal thread M10x0.75 - external thread M14x1.5

    

SIT  0.992.032  SIT  0.974.502

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 0 2 0 0 8 2
|>

O LIVE FO R  1 2 m m  ø P IP E
<|

3 0 2 0 0 7 9
|>

P IP E FITT IN G  ø  1 2  m m
thread ø 3/8"F

    

SIT  0.957.007  SIT  0.958.025

<|

3 3 4 8 0 4 4
|>

P IP E O LIVE ø  10  m m
<|

3 3 4 8 0 4 1
|>

P IP E O LIVE ø  16  m m
for model PEL 20 - 21 for model PEL 23

    

SIT  0.957.004  SIT  0.957.008

<|

3 5 2 3 0 3 6
|>

R ED U C TIO N S TR A IG H T ø  3/8 "F  - ø 1 /2 "F
<| |>

in brass with internal and external thread
 ø internal thread 3/8"F - ø external thread 1/2"F  
 for MINISIT flange  

    

SIT  0.974.074  

<T2

Pilot burners and accessories
T2>

<|

3 0 2 0 0 3 6
|>

P IL OT  BU R NER  S IT  3  F LA M ES
<|

5 0 1 4 7 5 7
|>

C O N NEC TION  P IP E ø 6  m m
multigas type with nozzle ø 0.35 mm thread M10x1 mm

 with 3 position bracket  

    

SIT  G1801339 SIT  0.190.083  SIT  0.958.047

<|

3 0 2 0 1 0 2
|>

H EXA G O N H EA D  S C R EW  3 /1 6 "x1 8  m m
<|

4 0 5 8 5 2 5
|>

N OZ ZL E FOR  P IL O R BU R N ER  ø 0 .3 0  m m

    

SIT  0.953.007  SIT  0.977.029

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 0 2 0 0 8 3
|>

N UT  &  OL IV E ø 4  m m
<|

3 0 2 0 0 8 4
|>

N UT  &  OL IV E ø 6  m m

    

SIT  0.958.030  SIT  0.958.031

<|

3 0 2 0 0 8 2
|>

O LIVE FO R  1 2 m m  ø P IP E
<|

3 3 4 8 0 3 6
|>

O LIVE FO R  4  m m  ø P IP E
for model PEL 21-22

    

SIT  0.957.007  

<|

3 0 2 0 0 8 1
|>

O LIVE FO R  6  m m  ø P IP E
<|

3 0 2 0 0 9 7
|>

P IL OT  A ER A TION  R EGU L A TO R
internal ø 7 mm - external ø 9 mm

  height 10 mm

    

SIT  0.957.001  SIT  0.912.001

<|

3 0 2 0 3 0 8
|>

P IL OT  A SS EM BL Y W IT H  N O ZZ LE ø  0 .4 0  m m
<|

3 0 2 0 0 5 4
|>

P IL OT  JET  ø 0 .2 0  m m

    

SIT  0.901.405  SIT  0.977.030

<|

3 0 2 0 1 5 6
|>

P IL OT  JET  ø 0 .2 5  m m
<|

3 0 2 0 0 5 5
|>

P IL OT  JET  ø 0 .3 5  m m

    

SIT  0.977.051  SIT  0.977.031

<|

5 0 1 5 5 1 6
|>

P IL OT  N OZ ZL E ø 0 .4 0  m m
<|

3 5 0 0 2 6 9
|>

P IL OT  N OZ ZL E ø 0 .4 5  m m

    

SIT  0.977.032  SIT  0.977.033

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 0 2 0 1 0 5
|>

P IL OT  W IT H  0 .2 0  m m  ø JET
<|

3 0 2 0 1 0 6
|>

P IL OT  W IT H  0 .2 5  m m  ø JET

    

SIT  0.901.067  SIT SIT  0.901.210

<|

3 0 2 0 1 0 7
|>

P IL OT  W IT H  0 .3 5  m m  ø JET
<|

3 0 2 0 0 7 9
|>

P IP E FITT IN G  ø  1 2  m m
thread ø 3/8"F

    

SIT SIT  0.901.404  SIT  0.958.025

<|

3 0 2 0 0 7 7
|>

P IP E FITT IN G  ø  4  m m
<|

3 0 2 0 0 7 8
|>

P IP E FITT IN G  ø  6  m m
thread M10x1 thread M10x1

    

SIT  0.958.013  SIT  0.958.011

<|

3 0 2 0 2 9 4
|>

R OU N D  IG N IT IO N  ELEC TR OD E ø 7 x44  m m
<|

3 0 0 1 0 0 3
|>

R OU N D  SP A R K IN G P L U G ø  7x4 4  m m
M faston M4x1 mm male faston M4x1 mm

 overall length 67 mm  total length 65 mm

    

 SIT  0.915.036 SIT  0.915.044

<|

3 0 2 0 0 6 0
|>

S PA R K IN G  P L U G R O UN D  ø  7x4 4  m m
<|

3 0 2 0 1 2 4
|>

S PA R K IN G  P L U G R O UN D  ø  7x4 4  m m
faston M 4x1 mm connection ø 2.4 mm

 overall length 82 mm  overall length 58 mm
 model CB505/021 Junkers  
 for model P502F  

    

SIT  0.915.015 SIT  0.915.024  SIT  0.915.037

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 0 2 0 3 6 5
|>

S PA R K IN G  P L U G R O UN D  ø  7x4 4  m m
<|

3 0 2 0 1 1 0
|>

T HR EE-FL A M E D EFLEC TO R
connection ø 2.4 mm

 overall length 52 mm  

    

SIT  0.915.025  SIT  0.975.004

<|

3 0 2 0 1 0 3
|>

T HR EE-P OS IT IO N  BRA C KET
<|

3 0 2 0 1 0 4
|>

T HR EE-P OS IT IO N  BRA C KET  C L AM P

    

SIT  0.978.003  SIT  0.978.004

<|

3 0 2 0 2 5 1
|>

T AR G ET  O N E-FLA M E P IL O T BU R NE R S IT
<|

5 0 1 4 7 5 7
|>

C O N NEC TION  P IP E ø 6  m m
without sparking plug, gas nozzle and gasket thread M10x1 mm

    

SIT  0.140.026  SIT  0.958.047

<|

3 0 2 0 0 8 5
|>

FITT IN G  F OR  SP A R KIN G P L UG  FIXIN G M 1 0 x1m m
<|

3 0 2 0 2 0 0
|>

FITT IN G  F OR  TH ER M OC OU P LE ø  6 .5  m m
thread M10x1

    

SIT  0.974.037  SIT  0.974.036

<|

5 0 2 2 0 5 0
|>

N OZ ZL E FOR  P IL O T BU R NE R ø  0.50  m m
<|

3 0 2 0 1 1 4
|>

O LIVE FO R  PIP E ø 6  m m

    

SIT  0.977.114  SIT  0.957.010

<|

3 3 4 8 0 3 6
|>

O LIVE FO R  4  m m  ø P IP E
<|

3 0 2 0 2 0 1
|>

P IL OT  G A S JET  ø 0 .1 4  m m
for model PEL 21-22

    

 SIT  0.977.115

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 0 2 0 0 4 2
|>

P IL OT  G A S JET  ø 0 .1 9  m m
<|

3 0 2 0 5 4 2
|>

P IL OT  G A S JET  ø 0 .2 0  m m

    

SIT  0.977.092  SIT  0.977.106

<|

3 0 2 0 2 0 2
|>

P IL OT  G A S JET  ø 0 .2 7  m m
<|

3 0 2 0 0 4 3
|>

P IL OT  G A S JET  ø 0 .3 6  m m

    

SIT  0.977.113  SIT  0.977.091

<|

3 0 2 0 5 4 3
|>

P IL OT  G A S JET  ø 0 .3 8  m m
<|

3 0 2 0 1 1 3
|>

P IL OT  O LIVE FO R  PIP E ø 4  m m

    

SIT  0.977.047  SIT  0.957.009

<|

3 0 2 0 0 7 7
|>

P IP E FITT IN G  ø  4  m m
<|

3 3 4 8 0 2 9
|>

P IP E FITT IN G  ø  4  m m
thread M10x1 thread M10x1

  for model PEL 21-22

    

SIT  0.958.013  

<|

3 0 2 0 0 7 8
|>

P IP E FITT IN G  ø  6  m m
<|

3 0 2 0 2 9 4
|>

R OU N D  IG N IT IO N  ELEC TR OD E ø 7 x44  m m
thread M10x1 M faston M4x1 mm

  overall length 67 mm

    

SIT  0.958.011  

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 0 0 1 0 0 3
|>

R OU N D  SP A R K IN G P L U G ø  7x4 4  m m
<|

3 0 2 0 0 6 0
|>

S PA R K IN G  P L U G R O UN D  ø  7x4 4  m m
male faston M4x1 mm faston M 4x1 mm

 total length 65 mm  overall length 82 mm
  model CB505/021 Junkers
  for model P502F

    

SIT  0.915.036 SIT  0.915.044  SIT  0.915.015 SIT  0.915.024

<|

3 0 2 0 1 2 4
|>

S PA R K IN G  P L U G R O UN D  ø  7x4 4  m m
<|

3 0 2 0 3 6 5
|>

S PA R K IN G  P L U G R O UN D  ø  7x4 4  m m
connection ø 2.4 mm connection ø 2.4 mm

 overall length 58 mm  overall length 52 mm

    

SIT  0.915.037  SIT  0.915.025

<|

3 0 2 0 0 1 0
|>

T AR G ET  P ILO T B UR N ER  SIT 2  FL A M ES
<|

5 0 1 4 7 5 7
|>

C O N NEC TION  P IP E ø 6  m m
supplied without sparking plug, nozzle and gasket thread M10x1 mm

 with thermocouple fitting  

    

SIT  0.140.015  SIT  0.958.047

<|

3 0 2 0 0 8 5
|>

FITT IN G  F OR  SP A R KIN G P L UG  FIXIN G M 1 0 x1m m
<|

3 0 2 0 2 0 0
|>

FITT IN G  F OR  TH ER M OC OU P LE ø  6 .5  m m
thread M10x1

    

SIT  0.974.037  SIT  0.974.036

<|

5 0 2 2 0 5 0
|>

N OZ ZL E FOR  P IL O T BU R NE R ø  0.50  m m
<|

3 0 2 0 1 1 4
|>

O LIVE FO R  PIP E ø 6  m m

    

SIT  0.977.114  SIT  0.957.010

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 3 4 8 0 3 6
|>

O LIVE FO R  4  m m  ø P IP E
<|

3 0 2 0 2 0 1
|>

P IL OT  G A S JET  ø 0 .1 4  m m
for model PEL 21-22

    

 SIT  0.977.115

<|

3 0 2 0 0 4 2
|>

P IL OT  G A S JET  ø 0 .1 9  m m
<|

3 0 2 0 5 4 2
|>

P IL OT  G A S JET  ø 0 .2 0  m m

    

SIT  0.977.092  SIT  0.977.106

<|

3 0 2 0 2 0 2
|>

P IL OT  G A S JET  ø 0 .2 7  m m
<|

3 0 2 0 0 4 3
|>

P IL OT  G A S JET  ø 0 .3 6  m m

    

SIT  0.977.113  SIT  0.977.091

<|

3 0 2 0 5 4 3
|>

P IL OT  G A S JET  ø 0 .3 8  m m
<|

3 0 2 0 0 8 6
|>

P IL OT  G A SK ET

    

SIT  0.977.047  SIT  0.948.060

<|

3 0 2 0 1 1 3
|>

P IL OT  O LIVE FO R  PIP E ø 4  m m
<|

3 0 2 0 0 7 7
|>

P IP E FITT IN G  ø  4  m m
thread M10x1

    

SIT  0.957.009  SIT  0.958.013

<|

3 3 4 8 0 2 9
|>

P IP E FITT IN G  ø  4  m m
<|

3 0 2 0 0 7 8
|>

P IP E FITT IN G  ø  6  m m
thread M10x1 thread M10x1

 for model PEL 21-22  

    

 SIT  0.958.011

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 0 2 0 2 9 4
|>

R OU N D  IG N IT IO N  ELEC TR OD E ø 7 x44  m m
<|

3 0 0 1 0 0 3
|>

R OU N D  SP A R K IN G P L U G ø  7x4 4  m m
M faston M4x1 mm male faston M4x1 mm

 overall length 67 mm  total length 65 mm

    

 SIT  0.915.036 SIT  0.915.044

<|

3 0 2 0 0 6 0
|>

S PA R K IN G  P L U G R O UN D  ø  7x4 4  m m
<|

3 0 2 0 1 2 4
|>

S PA R K IN G  P L U G R O UN D  ø  7x4 4  m m
faston M 4x1 mm connection ø 2.4 mm

 overall length 82 mm  overall length 58 mm
 model CB505/021 Junkers  
 for model P502F  

    

SIT  0.915.015 SIT  0.915.024  SIT  0.915.037

<|

3 0 2 0 3 6 5
|>

S PA R K IN G  P L U G R O UN D  ø  7x4 4  m m
<| |>

connection ø 2.4 mm
 overall length 52 mm  

    

SIT  0.915.025  

<|

3 0 2 0 0 0 6
|>

T HR EE-FL A M E P ILO T B UR N ER  SIT
<|

5 0 1 4 7 5 7
|>

C O N NEC TION  P IP E ø 6  m m
multigas with jet  ø 0.20 mm thread M10x1 mm

 with 3 positions bracket  

    

SIT  G1801332 SIT  0.100.001  SIT  0.958.047

<|

3 0 2 0 1 0 2
|>

H EXA G O N H EA D  S C R EW  3 /1 6 "x1 8  m m
<|

4 0 5 8 5 2 5
|>

N OZ ZL E FOR  P IL O R BU R N ER  ø 0 .3 0  m m

    

SIT  0.953.007  SIT  0.977.029

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 0 2 0 0 8 3
|>

N UT  &  OL IV E ø 4  m m
<|

3 0 2 0 0 8 4
|>

N UT  &  OL IV E ø 6  m m

    

SIT  0.958.030  SIT  0.958.031

<|

3 0 2 0 0 8 2
|>

O LIVE FO R  1 2 m m  ø P IP E
<|

3 3 4 8 0 3 6
|>

O LIVE FO R  4  m m  ø P IP E
for model PEL 21-22

    

SIT  0.957.007  

<|

3 0 2 0 0 8 1
|>

O LIVE FO R  6  m m  ø P IP E
<|

3 0 2 0 0 9 7
|>

P IL OT  A ER A TION  R EGU L A TO R
internal ø 7 mm - external ø 9 mm

  height 10 mm

    

SIT  0.957.001  SIT  0.912.001

<|

3 0 2 0 3 0 8
|>

P IL OT  A SS EM BL Y W IT H  N O ZZ LE ø  0 .4 0  m m
<|

3 0 2 0 0 5 4
|>

P IL OT  JET  ø 0 .2 0  m m

    

SIT  0.901.405  SIT  0.977.030

<|

3 0 2 0 1 5 6
|>

P IL OT  JET  ø 0 .2 5  m m
<|

3 0 2 0 0 5 5
|>

P IL OT  JET  ø 0 .3 5  m m

    

SIT  0.977.051  SIT  0.977.031

<|

5 0 1 5 5 1 6
|>

P IL OT  N OZ ZL E ø 0 .4 0  m m
<|

3 5 0 0 2 6 9
|>

P IL OT  N OZ ZL E ø 0 .4 5  m m

    

SIT  0.977.032  SIT  0.977.033

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 0 2 0 1 0 5
|>

P IL OT  W IT H  0 .2 0  m m  ø JET
<|

3 0 2 0 1 0 6
|>

P IL OT  W IT H  0 .2 5  m m  ø JET

    

SIT  0.901.067  SIT SIT  0.901.210

<|

3 0 2 0 1 0 7
|>

P IL OT  W IT H  0 .3 5  m m  ø JET
<|

3 0 2 0 0 7 9
|>

P IP E FITT IN G  ø  1 2  m m
thread ø 3/8"F

    

SIT SIT  0.901.404  SIT  0.958.025

<|

3 0 2 0 0 7 7
|>

P IP E FITT IN G  ø  4  m m
<|

5 0 3 3 1 3 8
|>

P IP E FITT IN G  ø  4  m m
thread M10x1 thread ø 1/8"

    

SIT  0.958.013  SIT

<|

3 0 2 0 0 7 8
|>

P IP E FITT IN G  ø  6  m m
<|

5 0 2 7 9 5 3
|>

P IP E O LIVE  ø  4  m m
thread M10x1 for COPRECI CAL3200

    

SIT  0.958.011  SIT

<|

3 0 2 0 2 9 4
|>

R OU N D  IG N IT IO N  ELEC TR OD E ø 7 x44  m m
<|

3 0 0 1 0 0 3
|>

R OU N D  SP A R K IN G P L U G ø  7x4 4  m m
M faston M4x1 mm male faston M4x1 mm

 overall length 67 mm  total length 65 mm

    

 SIT  0.915.036 SIT  0.915.044

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 0 2 0 0 6 0
|>

S PA R K IN G  P L U G R O UN D  ø  7x4 4  m m
<|

3 0 2 0 1 2 4
|>

S PA R K IN G  P L U G R O UN D  ø  7x4 4  m m
faston M 4x1 mm connection ø 2.4 mm

 overall length 82 mm  overall length 58 mm
 model CB505/021 Junkers  
 for model P502F  

    

SIT  0.915.015 SIT  0.915.024  SIT  0.915.037

<|

3 0 2 0 3 6 5
|>

S PA R K IN G  P L U G R O UN D  ø  7x4 4  m m
<|

3 0 2 0 1 1 0
|>

T HR EE-FL A M E D EFLEC TO R
connection ø 2.4 mm

 overall length 52 mm  

    

SIT  0.915.025  SIT  0.975.004

<|

3 0 2 0 1 0 3
|>

T HR EE-P OS IT IO N  BRA C KET
<|

3 0 2 0 1 0 4
|>

T HR EE-P OS IT IO N  BRA C KET  C L AM P

    

SIT  0.978.003  SIT  0.978.004

<|

3 0 2 0 0 1 2
|>

T W O-FL A M E P R IN T ED  P IL OT  BU R NER  S IT
<|

5 0 1 4 7 5 7
|>

C O N NEC TION  P IP E ø 6  m m
without sparking plug, gas nozzle and gasket thread M10x1 mm

 thermocouple fitting included  

    

SIT  0.160.103  SIT  0.958.047

<|

3 0 2 0 0 8 5
|>

FITT IN G  F OR  SP A R KIN G P L UG  FIXIN G M 1 0 x1m m
<|

3 0 2 0 2 0 0
|>

FITT IN G  F OR  TH ER M OC OU P LE ø  6 .5  m m
thread M10x1

    

SIT  0.974.037  SIT  0.974.036

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 0 2 0 5 4 1
|>

N OZ ZL E FOR  P IL O T BU R NE R 0 .3 5  m m
<|

3 0 2 0 1 1 1
|>

O LIVE FO R  4  m m  ø P IP E

    

SIT  0.977.125  SIT  0.957.014

<|

3 3 4 8 0 3 6
|>

O LIVE FO R  4  m m  ø P IP E
<|

3 0 2 0 1 1 2
|>

O LIVE FO R  6  m m  ø P IP E
for model PEL 21-22

    

 SIT  0.957.015

<|

3 0 2 0 0 8 6
|>

P IL OT  G A SK ET
<|

3 0 2 0 5 5 7
|>

P IL OT  JET  ø 0 .2 0  m m

    

SIT  0.948.060  SIT  0.977.156

<|

3 0 2 0 1 5 7
|>

P IL OT  JET  ø 0 .2 5  m m
<|

3 0 2 0 0 4 0
|>

P IL OT  JET  ø 0 .3 0  m m

    

SIT  0.977.123  SIT  0.977.122

<|

3 0 2 0 0 4 1
|>

P IL OT  JET  ø 0 .4 1  m m
<|

3 0 2 0 1 8 7
|>

P IL OT  N OZ ZL E ø 0 .5 1  m m

    

SIT  0.977.118  SIT  0.977.119

<|

3 0 2 0 0 7 7
|>

P IP E FITT IN G  ø  4  m m
<|

3 3 4 8 0 2 9
|>

P IP E FITT IN G  ø  4  m m
thread M10x1 thread M10x1

  for model PEL 21-22

    

SIT  0.958.013  

<T1

SIT
T1>



Suitable for: Suitable for:
<|

3 0 2 0 0 7 8
|>

P IP E FITT IN G  ø  6  m m
<|

3 0 2 0 0 6 0
|>

S PA R K IN G  P L U G R O UN D  ø  7x4 4  m m
thread M10x1 faston M 4x1 mm

  overall length 82 mm
  model CB505/021 Junkers
  for model P502F

    

SIT  0.958.011  SIT  0.915.015 SIT  0.915.024

<|

3 0 2 0 3 6 5
|>

S PA R K IN G  P L U G R O UN D  ø  7x4 4  m m
<| |>

connection ø 2.4 mm
 overall length 52 mm  

    

SIT  0.915.025  

<T2

Pressure switches
T2>

<|

3 3 2 0 0 5 1
|>

A D JU S TA BL E P RE SS UR E S W IT C H  ø 1 /4 "M
<|

3 3 2 0 0 5 3
|>

A D JU S TA BL E P RE SS UR E S W IT C H  ø 1 /4 "M
operating pressure regulation 5-20 mbar operating pressure regulation 10-50 mbar

 differential 3 mbar  differential 3 mbar
 contact capacity 16(4)A 250V  contact capacity 16(4)A 250V
 max operating temperature 85°C  max operating temperature 85°C
  for OVEN

    

SIT  0.360.001  SIT  0.360.002

<|

3 3 2 0 0 5 9
|>

O VEN  P RES S.SW ITC H  0 .3 5 -0.50  B AR  6 A  2 5 0 V
<|

4 0 0 6 5 3 6
|>

P R ESS UR E S W IT C H  0 .8 0/0 .6 0 B AR  1 .5 A  2 5 0 V
fitting ø 1/8"M

    

SIT  0.340.007  SIT  0.380.013

<T2

Thermocouples and accessories
T2>

<|

3 4 4 0 0 7 6
|>

C IRC UIT BR EA K  C O NT A C T  M 1 0 x1
<|

3 4 4 0 1 5 1
|>

C O N NEC TO R FO R  D IS P LA Y D EVIC E M 9 x1

    

SIT  0.974.403  SIT  0.974.070

<T1

SIT
T1>



Suitable for: Suitable for:

<|

3 4 4 0 0 8 5
|>

C U T-O FF TH ER M OC OU P LE M 9 x1  1 0 0 cm
<|

3 4 4 0 0 6 5
|>

C U T-O FF TH ER M OC OU P LE M 9 x1  3 2  cm
cut-off contact with cables 100 cm cut-off contact with terminals

    

SIT  SIT  0.270.407

<|

3 4 4 0 1 5 0
|>

D ISP L AY  D EVIC E FO R T H ERM O C O UP L ES
<|

3 4 4 0 0 6 7
|>

IN T ER RU P TED  TH ER M OC O U PL E M 9 x1  1 0 0  cm .
interrupted contact with terminals

    

SIT  0.926.106  SIT  G1902221 SIT  0.270.400

<|

3 4 4 0 0 6 6
|>

IN T ER RU P TED  TH ER M OC O U PL E M 9 x1  6 0  cm
<|

3 4 4 0 0 1 6
|>

IN T ER RU P TION  C O N NEC TO R  A S A  M 11 x3 2
interrupted contact with fastons

    

SIT  0.270.408  SIT  0.974.404

<|

3 4 4 0 0 1 4
|>

IN T ER RU P TION  C O N NEC TO R  M 8 x1
<|

3 4 4 0 0 1 3
|>

S LO TT ED  FITT IN G A S A  M 1 1 x3 2

    

SIT  0.974.401  SIT  G6032012 SIT  G7032012

<|

3 4 4 0 0 1 0
|>

S LO TT ED  FITT IN G M 8 x1
<|

3 4 4 0 0 1 1
|>

S LO TT ED  FITT IN G M 9 x1

    

SIT  G6032011 SIT  G7032011  SIT  G6032010 SIT  G7032010

<|

2 1 0 0 8 2 0
|>

T ERM O C O UP L E SIT Q U IC K  M 9x1  4 0  cm
<|

3 4 4 0 0 4 3
|>

T HER M O C OU P LE  AS A  SIT 1 0 0  cm

    

SIT  0.290.013  SIT  0.200.039

<T1

SIT
T1>



Suitable for: Suitable for:

<|

3 4 4 0 0 4 5
|>

T HER M O C OU P LE  AS A  SIT 1 5 0  cm
<|

3 4 4 0 0 4 0
|>

T HER M O C OU P LE  AS A  SIT 4 0  cm

    

SIT  G1040415 SIT  0.200.040  SIT  0.200.036

<|

3 4 4 0 0 4 1
|>

T HER M O C OU P LE  AS A  SIT 6 0  cm
<|

3 4 4 0 0 4 2
|>

T HER M O C OU P LE  AS A  SIT 8 5  cm

    

SIT  0.200.037  SIT  0.200.038

<|

3 4 4 0 0 7 4
|>

T HER M O C OU P LE  LF 9 0  cm
<|

3 4 4 0 2 5 1
|>

T HER M O C OU P LE  M 8 x1  3 2 cm  T H REA D  M 8 x1
7 slotted elements kit

    

SIT  G1725004  SIT  G1041113

<|

3 4 4 0 0 4 7
|>

T HER M O C OU P LE  M 8 X 1  7 5  cm
<|

3 4 4 0 8 4 7
|>

T HER M O C OU P LE  SIT  M 8 x1  7 5  cm  - 1 0  P C S

    

SIT  0.260.138  SIT  0.260.138

<|

3 4 4 0 1 3 3
|>

T HER M O C OU P LE  SIT  M 1 0 x1  1 0 0  cm
<|

3 4 4 0 1 3 4
|>

T HER M O C OU P LE  SIT  M 1 0 x1  1 2 0  cm

    

SIT  0.200.031  SIT  0.200.034

<|

3 4 4 0 1 3 5
|>

T HER M O C OU P LE  SIT  M 1 0 x1  1 5 0  cm
<|

3 4 4 0 1 4 3
|>

T HER M O C OU P LE  SIT  M 1 0 x1  1 5 0  cm  C OU P L IN G M

    

SIT  0.200.035  SIT  0.200.072

<T1

SIT
T1>



Suitable for: Suitable for:

<|

3 4 4 0 1 3 2
|>

T HER M O C OU P LE  SIT  M 1 0 x1  4 0  cm
<|

3 4 4 0 1 4 1
|>

T HER M O C OU P LE  SIT  M 1 0 x1  4 0  cm  C OU P L IN G  M 8

    

SIT  0.200.025  SIT  G1041311 SIT  0.200.064

<|

3 4 4 0 1 2 6
|>

T HER M O C OU P LE  SIT  M 1 0 x1  7 5  cm
<|

3 4 4 0 1 4 2
|>

T HER M O C OU P LE  SIT  M 1 0 x1  7 5  cm  C OU P L IN G  M 8

    

SIT  0.200.029  SIT  0.200.067

<|

3 4 4 0 0 0 6
|>

T HER M O C OU P LE  SIT  M 1 0 X1  3 2  cm
<| |>

    

SIT  G1040313 SIT  0.006.151 SIT  0.200.024  

<|

3 4 4 0 0 3 0
|>

T HER M O C OU P LE  SIT  M 8 x1  1 0 0  cm
<|

3 4 4 0 8 3 0
|>

T HER M O C OU P LE  SIT  M 8 x1  1 0 0  cm  - 1 0  P C S

    

SIT  0.200.127  SIT  0.200.127

<|

3 4 4 0 0 5 5
|>

T HER M O C OU P LE  SIT  M 8 x1  1 0 0  cm  TH R EA D  M 8x1
<|

3 4 4 0 8 5 5
|>

T HER M O C OU P LE  SIT  M 8 x1  1 0 0  cm  - 1 0  P C S
GIUNTO M8x1

    

SIT  0.200.047  SIT  0.200.047

<|

3 4 4 0 0 3 1
|>

T HER M O C OU P LE  SIT  M 8 x1  1 2 0  cm
<|

3 4 4 0 8 3 1
|>

T HER M O C OU P LE  SIT  M 8 x1  1 2 0  cm  - 1 0  P C S

    

SIT  0.200.129  SIT  0.200.129

<T1

SIT
T1>



Suitable for: Suitable for:

<|

3 4 4 0 0 5 6
|>

T HER M O C OU P LE  SIT  M 8 x1  1 2 0  cm  TH R EA D  M 8x1
<| |>

    

SIT  G1041115 SIT  0.200.049  

<|

3 4 4 0 0 3 2
|>

T HER M O C OU P LE  SIT  M 8 x1  1 5 0  cm
<|

3 4 4 0 8 3 2
|>

T HER M O C OU P LE  SIT  M 8 x1  1 5 0  cm  - 1 0  P C S

    

SIT  0.200.130  SIT  0.200.130

<|

3 4 4 0 0 5 7
|>

T HER M O C OU P LE  SIT  M 8 x1  1 5 0  cm  TH R EA D  M 8x1
<|

3 4 4 0 8 5 7
|>

T HER M O C OU P LE  SIT  M 8 x1  1 5 0  cm  - 1 0  P C S
GIUNTO M8x1

    

SIT  0.200.050  SIT  0.200.050

<|

3 4 4 0 0 2 7
|>

T HER M O C OU P LE  SIT  M 8 x1  3 2  cm
<|

3 4 4 0 8 2 7
|>

T HER M O C OU P LE  SIT  M 8 x1  3 2  cm  - 1 0  P C S

    

SIT  0.200.121  SIT  0.200.121

<|

3 4 4 0 0 6 8
|>

T HER M O C OU P LE  SIT  M 8 x1  3 2  cm
<| |>

    

SIT  0.260.139  

<|

3 4 4 0 0 5 1
|>

T HER M O C OU P LE  SIT  M 8 x1  3 2  cm .TH R EA D  M 8 x1
<|

3 4 4 0 8 5 1
|>

T HER M O C OU P LE  SIT  M 8 x1  3 2  cm  - 1 0  P C S .
GIUNTO M8x1

    

SIT  0.200.042  SIT  0.200.042

<T1

SIT
T1>



Suitable for: Suitable for:

<|

3 4 4 0 0 2 8
|>

T HER M O C OU P LE  SIT  M 8 x1  6 0  cm
<|

3 4 4 0 8 2 8
|>

T HER M O C OU P LE  SIT  M 8 x1  6 0  cm  - 1 0  P C S

    

SIT  0.200.124  SIT  0.200.124

<|

3 4 4 0 0 5 3
|>

T HER M O C OU P LE  SIT  M 8 x1  6 0  cm  TH R EA D  M 8 x1
<|

3 4 4 0 8 5 3
|>

T HER M O C OU P LE  SIT  M 8 x1  6 0  cm  - 1 0  P C S
GIUNTO M8x1

    

SIT  0.200.044  SIT  0.200.044 SIT  0.290.031

<|

3 4 4 0 0 2 9
|>

T HER M O C OU P LE  SIT  M 8 x1  8 5  cm
<|

3 4 4 0 8 2 9
|>

T HER M O C OU P LE  SIT  M 8 x1  8 5  cm  - 1 0  P C S

    

SIT  0.200.126  SIT  0.200.126

<|

3 4 4 0 0 5 4
|>

T HER M O C OU P LE  SIT  M 8 x1  8 5  cm  TH R EA D  M 8 x1
<|

3 4 4 0 8 5 4
|>

T HER M O C OU P LE  SIT  M 8 x1  8 5  cm  - 1 0  P C S
GIUNTO M8x1

    

SIT  0.200.046  SIT  0.200.046

<|

3 4 4 0 0 5 2
|>

T HER M O C OU P LE  SIT  M 8 X1  4 5  cm  C OU P L IN G  M 8 x
<|

3 4 4 0 8 5 2
|>

T HER M O C OU P LE  SIT  M 8 x1  4 5  cm  - 1 0  P C S
GIUNTO M8x1

    

SIT  0.200.043  SIT  0.200.043

<|

3 4 4 0 0 4 6
|>

T HER M O C OU P LE  SIT  M 8 X1  6 0  cm
<|

3 4 4 0 8 4 6
|>

T HER M O C OU P LE  SIT  M 8 x1  6 0  cm  - 1 0  P C S

    

SIT  0.260.137  SIT  0.260.137

<T1

SIT
T1>



Suitable for: Suitable for:

<|

3 4 4 0 0 6 1
|>

T HER M O C OU P LE  SIT  M 9 x1  1 0 0  cm  TH R EA D  M 8x1
<|

3 4 4 0 8 6 1
|>

T HER M O C OU P LE  SIT  M 9 x1  1 0 0  cm  - 1 0  P C S
GIUNTO M8x1

    

SIT  0.200.058  SIT  0.200.058

<|

3 4 4 0 0 3 7
|>

T HER M O C OU P LE  SIT  M 9 x1  1 0 0  cm .
<|

3 4 4 0 8 3 7
|>

T HER M O C OU P LE  SIT  M 9 x1  1 0 0  cm  - 1 0  P C S

    

SIT  G1040207 SIT  0.200.015  SIT  G1040207 SIT  0.200.015

<|

3 4 4 0 0 3 8
|>

T HER M O C OU P LE  SIT  M 9 x1  1 2 0  cm
<|

3 4 4 0 8 3 8
|>

T HER M O C OU P LE  SIT  M 9 x1  1 2 0  cm  - 1 0  P C S

    

SIT  G1040209 SIT  0.200.019  SIT  G1040209 SIT  0.200.019

<|

3 4 4 0 0 6 2
|>

T HER M O C OU P LE  SIT  M 9 x1  1 2 0 cm  TH R EA D  M 8 x1
<| |>

    

SIT  0.200.060  

<|

3 4 4 0 0 3 9
|>

T HER M O C OU P LE  SIT  M 9 x1  1 5 0  cm
<|

3 4 4 0 8 3 9
|>

T HER M O C OU P LE  SIT  M 9 x1  1 5 0  cm  - 1 0  P C S

    

SIT  0.200.021  SIT  0.200.021

<|

3 4 4 0 0 6 3
|>

T HER M O C OU P LE  SIT  M 9 x1  1 5 0  cm  TH R EA D  M 8x1
<|

3 4 4 0 8 6 3
|>

T HER M O C OU P LE  SIT  M 9 x1  1 5 0  cm  - 1 0  P C S
GIUNTO M8x1

    

SIT  G1041208 SIT  0.200.061  SIT  G1041208 SIT  0.200.061

<T1

SIT
T1>



Suitable for: Suitable for:

<|

3 4 4 0 0 3 3
|>

T HER M O C OU P LE  SIT  M 9 x1  3 2  cm
<|

3 4 4 0 8 3 3
|>

T HER M O C OU P LE  SIT  M 9 x1  3 2  cm  - 1 0  P C S

    

SIT  G1040213 SIT  0.200.003  SIT  G1040213 SIT  0.200.003

<|

3 4 4 0 0 5 8
|>

T HER M O C OU P LE  SIT  M 9 x1  3 2  cm  TH R EA D  M 8 x1
<|

3 4 4 0 8 5 8
|>

T HER M O C OU P LE  SIT  M 9 x1  3 2  cm  - 1 0  P C S
GIUNTO M8x1

    

SIT  0.200.052  SIT  0.200.052

<|

3 4 4 0 0 8 0
|>

T HER M O C OU P LE  SIT  M 9 x1  4 0  cm .
<|

3 4 4 0 8 8 0
|>

T HER M O C OU P LE  SIT  M 9 x1  4 0  cm  - 1 0  P C S

    

SIT  0.200.005  SIT  0.200.005

<|

3 4 4 0 0 3 4
|>

T HER M O C OU P LE  SIT  M 9 x1  5 0  cm
<|

3 4 4 0 8 3 4
|>

T HER M O C OU P LE  SIT  M 9 x1  5 0  cm  - 1 0  P C S

    

SIT  0.200.007  SIT  0.200.007

<|

3 4 4 0 0 5 9
|>

T HER M O C OU P LE  SIT  M 9 x1  6 0  cm  TH R EA D  M 8 x1
<|

3 4 4 0 8 5 9
|>

T HER M O C OU P LE  SIT  M 9 x1  6 0  cm  - 1 0  P C S
GIUNTO M8x1

    

SIT  0.200.055  SIT  0.200.055

<|

3 4 4 0 0 3 5
|>

T HER M O C OU P LE  SIT  M 9 x1  6 0  cm .
<|

3 4 4 0 8 3 5
|>

T HER M O C OU P LE  SIT  M 9 x1  6 0  cm  - 1 0  P C S

    

SIT  0.200.009  SIT  0.200.009

<T1

SIT
T1>



Suitable for: Suitable for:

<|

3 4 4 0 0 6 0
|>

T HER M O C OU P LE  SIT  M 9 x1  8 5  cm  TH R EA D  M 8 x1
<|

3 4 4 0 8 6 0
|>

T HER M O C OU P LE  SIT  M 9 x1  8 5  cm  - 1 0  P C S
GIUNTO M8x1

    

SIT  G1041214 SIT  0.200.057  SIT  G1041214 SIT  0.200.057

<|

3 4 4 0 0 3 6
|>

T HER M O C OU P LE  SIT  M 9 x1  8 5  cm .
<|

3 4 4 0 8 3 6
|>

T HER M O C OU P LE  SIT  M 9 x1  8 5  cm  - 1 0  P C S

    

SIT  0.200.013 SIT  0.290.017  SIT  0.200.013 SIT  0.290.017

<|

3 4 4 0 0 0 9
|>

T HER M O C OU P LE  SIT  M 9 X1  1 0 0  cm  M 8 x1
<|

3 4 4 0 8 0 9
|>

T HER M O C OU P LE  SIT  M 9 x1  1 0 0  cm  - 1 0  P C S
GIUNTO M8x1

    

SIT  0.200.402  SIT  0.200.402

<|

3 4 4 0 0 4 9
|>

T HER M O C OU P LE  SIT  M 9 X1  7 5  cm
<|

3 4 4 0 8 4 9
|>

T HER M O C OU P LE  SIT  M 9 x1  7 5  cm  - 1 0  P C S

    

SIT  0.200.011  SIT  0.200.011

<|

5 0 3 4 8 4 5
|>

T HER M O C OU P LE  SIT  Q UIC K  M 1 0 x1  8 5  cm
<|

3 4 4 0 0 9 1
|>

T HER M O C OU P LE  SIT  Q UIC K  M 8 x1  1 5 0  cm

    

SIT  0.290.168  SIT  0.290.010

<|

3 4 4 0 0 8 1
|>

T HER M O C OU P LE  SIT  Q UIC K  M 8 x1  4 5  cm
<|

3 4 4 0 0 8 2
|>

T HER M O C OU P LE  SIT  Q UIC K  M 8 x1  6 0  cm

    

SIT  0.290.003  SIT  0.290.004

<T1

SIT
T1>



Suitable for: Suitable for:

<|

3 4 4 0 0 9 4
|>

T HER M O C OU P LE  SIT  Q UIC K  M 9 x1  1 0 0  cm
<|

3 4 4 0 8 9 4
|>

T HER M O C OU P .SIT Q U IC K  M 9 x1  1 0 0  cm - 1 0  P C S

    

SIT  0.290.019  SIT  0.290.019

<|

3 4 4 0 0 9 5
|>

T HER M O C OU P LE  SIT  Q UIC K  M 9 x1  1 5 0  cm
<|

3 4 4 0 8 9 5
|>

T HER M O C OU P .SIT Q U IC K  M 9 x1  1 5 0  cm  -1 0  P C S

    

SIT  0.290.021 SIT  0.290.022  SIT  0.290.021 SIT  0.290.022

<|

3 4 4 0 0 8 3
|>

T HER M O C OU P LE  SIT  Q UIC K  M 9 x1  3 2  cm
<|

3 4 4 0 0 7 8
|>

T HER M O C OU P LE  SIT  Q UIC K  M 9 x1  5 0  cm .

    

SIT  0.290.012  SIT  0.290.015

<|

3 4 4 0 0 9 2
|>

T HER M O C OU P LE  SIT  Q UIC K  M 9 x1  6 0  cm
<|

3 4 4 0 8 9 2
|>

T HER M O C OU P .SIT Q U IC K  M 9 x1  6 0  cm  - 1 0  P C S

    

SIT  0.290.016  SIT  0.290.016

<|

3 4 4 0 0 9 3
|>

T HER M O C OU P LE  SIT  Q UIC K  M 9 x1  8 5  cm
<|

3 4 4 0 8 9 3
|>

T HER M O C OU P .SIT Q U IC K  M 9 x1  8 5  cm  - 1 0  P C S

    

SIT  0.290.018 SIT  0.290.172  SIT  0.290.018 SIT  0.290.172

<|

3 4 4 0 2 7 7
|>

T HER M O C OU P LE  UN IV . M 9 x1  1 2 0  cm  M 6 x0 .7 5
<|

3 4 4 0 0 7 7
|>

T HER M O C OU P LE  UN IV . M 9 x1  9 0  cm  M 6x0 .7 5
kit with 5 milled components kit with 5 milled components

    

SIT  G1724003  SIT  G1724002

<T1

SIT
T1>



Suitable for: Suitable for:

<|

3 4 4 0 1 7 7
|>

T HER M O C OU P LE  UN IV . M 9 X1  6 0 cm  M 6x0 .7 5
<|

3 4 4 0 0 0 2
|>

U NIVE RS A L T H ERM O C O UP L E SIT 9 0  cm
kit with 5 milled components this kit is composed of 10 slotted elements

    

SIT  G1724001  SIT  0.208.002

<|

3 4 4 0 0 9 9
|>

U NIVE RS A L T H ERM O C O UP L E 1 2 0  cm
<| |>

10 slotted elements kit

    

SIT  0.208.004  

<T1

SIT
T1>



The data herewith contained may change without notice and LF SpA cannot be 

held responsible for possible errors stated or resulting by the use of this document.

All rights reserved. No part of this publication may be reproduced without written 

permission by LF SpA.


	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2

